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Mark the letter A, B, C or D on your answersheet to indicate the word whose underlines part differ from other three in pronunciation in each of the following question.

Question 1. A. walked 
B. finished 

C. fixed 


D. mended 

Question 2. A. spend 
B. invent  

C. media 


D. access
Mark the letter A, B, C or D on your answer sheet to indicate the word differ from other three in the position off primary street in each of the following question.
Question 3 . A. noisy 
B. apply

C. enter


D. funny
Question 4.  A. listen
B. recycle 

C. logical 


D. mission
Mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following question. 
Question 5:  All food products should carry a list of _________ on the packet. 

A. elements


B. materials

C. foods


D. ingredients

Question 6:  Louis is bilingual_________English and German.
A. up 



B.out               
 C. in        

 
D.with       

	
	
	
	


Question 7: Listen to what I am saying, _________?

A. don’t you


B. do you

C. will you 


D. did you

Question 8:   Jean Fragonard was a French artist_________ portraits of children. 

A. whose paintings

B. who has painted  
C. whose painted

D. who painted

Question 9. My sister _________in the bank for five years before she was sent to Da Nang.

A. has worked 

B. was working 
C. had worked

D. works

Question 10: The more__________ we walk, the longer it will take us to get home. 

A. slowest


B. slowly
           C. slower


D. slow

 Question  11. The first_________ of the farm was my great-grandfather, who built the house.

A. inhabit


B. inhabitable 
C. inhabitation

D. inhabitant

 Question 12. He is not exactly rich but he certainly earns enough to 

.

A. get on


B. get up

C. get down


D. get by
Question 13.The guidelines in this book can help you become a _________ speaker.
A. confide  


B. confident  

C. confidence    

D. self-confidence

Mark the letter A, B, c or D on your answer sheet to indicate the most suitable response to complete each of the following exchanges.

Question 14: Jim: “What about collecting used paper, bottles and plastic bags every day?”

                     Ha and Mai: “_________”

A. Because they can pollute the environment.                 B. How come? Who can do that?

C. That’s a very good idea. Let’s do that.                         D. What about this weekend?

Question 15.  - “Would you mind turning down the TV? I’m working!”  “________________.”        

A. Yes, I’m working, too.          

B. Not at all. I’ll do it now.

C. Thank you. I’m pleased. 

D. No, I wouldn’t be working.

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSET in meaning to the underlines word(s) in each off the following question.
Question 16. Around 150 B.C. the Greek astronomer Hipparchus developed a system to classify stars according to brightness.

A. record

B. shine

C. categorize

D. diversify

Question 17. She is always diplomatic when she deals with angry students.

A. strict

B. outspoken

C. firm

D. tactful

Mark the letter A, B, C or D on your answer sheet to indicate the word(s) OPOSITE in meaning to the underlines word(s) in each off the following question.
Question 18. I’ll have to whisper to you, otherwise he will hear what we are saying.  
A. shout

B. whistle

C. talk
                  
D. say
 Question 19. He was so insubordinate that he lost his job within a week.

A. fresh

B. disobedient
C. obedient

D. understanding

Mark the letter A, B, C or D on your answer sheet to indicate the underlined part that needs correction in each of the following question. 

Question 20. If Nam hadn’t forgotten locking the door, his motorbike couldn’t have been lost

    
                        A
              B                                 C
                            
D

Question 21. The explanation that our instructor gave us was different with the one yours gave you.                                    



     A

      
 B
                             C

    D
Question 22. People often visit the Lake Victoria when they go to  East Africa.

                                           A      B 

       C                D
Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks.


The astronauts could not have reached the moon without the invention of rockets. We live in the age of rockets, but do you know that rockets are not a modern (23) ______? For centuries, rockets were used to entertain people. The Chinese used rockets (24)________ fireworks. In the 13th century, rockets were first used in war. The Mongols used rockets to attack a Chinese city in 1232. These early rockets couldn’t (25) _____ very far. However, in 1885 a Russian scientist discovered a better fuel for rockets. This liquid fuel gave rockets much more power. Then in 1919 a new age of rockets began. In that year an American scientist, Robert Goddard, said that it was (26) ______ to send a rocket to the moon! He launched his first liquid-fuelled rocket in 1923. It flew 184 feet. Almost 12 years later, he sent a rocket 7,500 feet into the air. Russian rockets sent the first (27)______ into orbit in 1957. Just 12 years later, the first man walked on the moon0 thanks to rockets. Where will rockets take us next?

Question 23. A. invention

B. discovery

C. finding

D. result

Question 24. A. in


B. with

C. to


D. for

Question 25. A. tour


B. travel

C. go


D. move

Question 26. A. probable

B. likely

C. possible

D. feasible

Question 27. A. satellite

B. rocket

C. planet

D. object

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the questions.
      The invention of electric telegraph gave birth to the communication industry. Although Samuel Morse succeeded in making the invention useful in 1837, it was not until 1843 that the first telegraph line of consequence was constructed. By 1860 more than 50,000 miles of lines connected people east of the Rockies. The following year, San Francisco was added to the network.

     The national telegraph network fortified the ties between East and West and contributed to the rapid expansion of the railroads by providing an efficient means to monitor schedules and routes. Furthermore, the extension of the telegraph, combined with the invention of the steam-driven rotary printing press by Richard M. Hoe in 1846, revolutionized the world of journalism. When the business of news gathering had been dependent upon the mail and on hard-operated presses, the telegraph expanded the amount of information a newspaper could supply and allowed for more timely reporting. The establishment of the Associated Press as a central wire service in 1846 marked the advent of a new era in journalism.

Question 28. It can be inferred from the passage that ___________

A. Morse’s invention did not immediately achieve its full potential.

B. the extension of the telegraph was more important than its invention

C. journalists have the Associated Press to thank for the birth of communication industry.

D. Samual Morse did not make a significant contribution to the communication industry.

Question 29. This passage would most likely be found in a ________

A. book on trains
B. U.S history book
C. computer magazine
D.science textbook

Question 30. The word “gathering” in paragraph 2 refers to __________

A. people

B. objects


C. substances

D. information

Question 31. The author’s main purpose in this passage is to _________

A. compare the invention of the telegraph with the invention of the steam- driven rotary press

B. show how the electric telegraph affected the communication industry.

C. criticize Samuel Morse

D. propose new ways to develop the communication industry.

Question 32. The main topic of the passage is __________

A. the origin of the national telegraph



B. the history of journalism

C. the contribution and development of the telegraph network.

D. how the telegraph network contributed to the expansion of railroads.

Mark the letter A, B, C or D on your answer sheet to indicate the sentence that is closest in meaning to the original sentence in each of the following question. 
Question  33. Finish your homework or you can't go out with your friend. 

A. Unless you finish your homework, you can go out with your friend.
B. If you don't finish your homework, you can go out with your friend.
C. If you don't finish your homework, you can't go out with your friend.
D. If you finish your homework, you can't go out with your friend. 
Question 34.   He started working as an engineer 5 years ago.

A. He worked as an engineer 5 years ago.
B. He had worked as an engineer for 5 years.

C. He didn't work as an engineer any more.
D. He has worked as an engineer for 5 years.
Question 35.  Although it rained heavily, we all enjoyed the excursion. 

A. Despite it rained heavily, we all enjoyed the excursion.

B. Despite the rain heavy, we all enjoyed the excursion.

C. Despite the heavy rain, we all enjoyed the excursion.

D. Despite the heavily rain, we all enjoyed the excursion 
Question 36. They are building a new bridge over the river.

A. A new bridge is building over the river.
B. A new bridge is being built over the river.

C. A new bridge is going to build over the river.
D. A new bridge is built over the river.                                                       
Choose the best sentence that can be made from the cues given and mark the letter A, B, C or D on your answer sheet to indicate the correct sentence

Question 37: The/ volcanic eruption/ be/ so destructive/ that/ many lives/ be threatened

A. The volcanic eruption was so destructive that many lives were threatened.

B. The volcanic eruption is so destructive that many lives are threatened.

C. The volcanic eruption be so destructive that many lives are threatened.

D. The volcanic eruption be so destructive that many lives were threatened.

Question 38: What/ you/ do/ if/ there/ tornado/ in/ your area?

A. What would you do if there is a tornado in your area?

B. What would you do if there are a tornado in your area?

C. What would you do if there were a tornado in your area?

D. What would you do if there has been a tornado in your area?
Question 39: The reporter/ wanted/ know/ why/ I/ not/ taken/ a picture/ when/ I/ had seen/ the UFO.
A. The reporter wanted know why I hadn’t taken a picture when I had seen the UFO.

B. The reporter wanted know why I didn’t taken a picture when I had seen the UFO.

C. The reporter wanted to know why I hadn’t taken a picture when I had seen the UFO.

D. The reporter wanted to know why I didn’t taken a picture when I had seen the UFO.

Question 40:The/ biggest problem/ for/ humans/ live/ other planets/ be/ lack/ atmosphere and water.

A. The biggest problem for humans to live in other planets is lack of atmosphere and water.

B. The biggest problem for humans living on other planets is lack of atmosphere and water.

C. The biggest problem for humans to living in other planets is lack of atmosphere and water.

D. The biggest problem for humans to live on other planets is lack of atmosphere and water.
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MULTIPLE CHOICE (10 points) 

Mark the letter A, B, C or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions

Question 1: A. station 

B. intersection 

C. question 

D. invitation

Question 2: A. head 


B. spread  


C. cream 

D. bread

Mark the letter A, B, C or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions

Question 3: A. refreshment 
B. intention


C. confident 

D. exciting

Question 4: A. promote 

B. orchid 


C. varied 

D. touchdown

Mark the letter A, B, C or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions

Question 5: If I were you, I will recycle these plastic carrier bags.                            



       A

   B       C
             D

Question 6: I learnt from the news on TV that the earthquake destroyed hundreds of houses.  


                      A

              B
              
         C
             D

Question 7: Tom said he really enjoyed doing this experiment and finding out how things worked .

    

                                           A
    B


   C
                         D

Mark the letter A, B, C or D on your answer sheet to indicate the correct answer in each of the following questions

Question 8: English has grown from a language of few speakers to become the dominant language of international ____.


A. communication
B. communicative
      C. communicator
   D. communicate

Question 9:  Until the 1600s, English was, for the most part,____only in England and had not extended even as far as Wales, Scotland, or Ireland.

A. spoken
B. spoke 
      C. speakers
         D. speaking

Question 10: This reading passage is about an astronaut____traveled into space in 1961.

A. who                           B. whom                         C. that                         D. both A & C

Question 11: The Statue of Liberty is a major monument in New York which_______freedom

A. attracts
         
      B. symbolises  

 C. decide 

   D. understand

Question 12: How often do you watch the Discoveries channel on TV? -  ____

A. Once in a blue moon   B. Out of this world 
C. The sky’s the limit  D. Over the moon       

Question 13: Fruit flies ___ into space a decade before the Russian space dog Laika____the first animal to orbit Earth.


A. were launched – became
B. were launched – had become


C. had launched – became
D. had been launched – became

Question 14: We have a ______break in the morning when we are at school.

A. twenty minutes      
B. twenty-minute
 C. twenty-minutes
        D. twenty minute

Question 15: I have ______ older brother and ____ younger sister.

A. an... a                   
 B. an... an                 C. a... a                            D. a... an

Question 16: The mission which was to land on a comet ____by them by the end of the 1950s.

A. had successfully been completed
B. was successfully completed

C. had successfully completed
D. successfully completed

Mark the letter A, B, C or D on your answer sheet to indicate the most suitable response to complete each of the following exchanges

Question 17: Tom: “How is your holiday in New Zealand?." - John: “_____________”

A. Really
          

B. Awesome
             C. Absolute right
         D. Sure

Question 18: A: “I don’t quite believe in the widespread use of robots in the future.” – B: “_________”

A. So can I.
 B. I do so too.              C. Oh, why so?
 D. Neither do I.

Mark the letter A, B, C or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions

Question 19: I invited her to join our trip to Trang An, but she turned down my invitation.

A. refused


B. accepted

C. agreed


D. objected

Question 20: Math and English are compulsory subjects on this course.

A. interesting


B. required

C. difficult


D. optional

Mark the letter A, B, C or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions

Question 21: He decided not to buy the fake watch and wait until he had more money.

A. authentic


B. mistake

C. faulty


D. original

Question 22: Nick’s mum boils and drains the prawns.

A. stir- fry


B. steams

C. pours water on

D. pours the water away

Read the following story and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the questions

If parents bring up a child with the sole aim of turning the child into a genius, they will cause a disaster. According to several scientists, this is one of the biggest mistakes which ambitious parents make. Generally, the child will be only too aware of what his parents expect, and will fail. Unrealistic parental expectations can cause great damage to children.


However, if parents are not too unrealistic about what they expect their children to do, but are ambitious in a sensible way, the child may succeed in doing very well – especially if the parents are very supportive of their child.


Michael is very lucky. He is crazy about music, and his parents help him a lot by taking him to concerts and arranging private piano and violin lessons for him. They even drive him 50 kilometers twice a week for violin lessons. Michael’s mother knows very little about music, but his father plays the trumpet in a large orchestra. However, he never makes Michael enter music competitions if he is unwilling.


Winston, Michael’s friend, however, is not so lucky. Both his parents are successful musicians, and they set too high a standard for Winston. They want their son to be as successful as they are and so they enter him for every piano competition held. They are very unhappy when he does not win. Winston is always afraid that he will disappoint his parents and now he always seems quiet and unhappy.

Question 23:  Michael is fortunate in that 

.

A. his mother knows little about music


C. his father is a musician

B. his parents help him in a sensible way 


D. his parents are quite rich

Question 24: The phrase “crazy about” in the paragraph 3 mostly means_________

A. surprised at
B. extremely interested in

C. completely unaware of
D. confused about

Question 25:  Winston’s parents push their son so much and he 

.

A. has become a good musician 



C. has won a lot of piano competitions

B. is afraid to disappoint them



D. cannot learn much music from them

Question 26:  One of the serious mistakes parents can make is to 

.

A. make their child become a musician 


C. push their child into trying too much

B. neglect their child’s education 



D. help their child to become a genius

Question 27:  The two examples given in the passage illustrate the principle that 

.

A. parents should let the child develop in the way he wants

B. parents should spend more money on the child’s education

C. successful parents always have intelligent children

D. successful parents often have unsuccessful children

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct word that best fits each of the numbered blanks

Language only belongs (28)_____ human beings. Each nation has its own language. We are born to speak the language (29)______ by our ancestors naturally and automatically. I speak Vietnamese (30)______ just because I was born in Vietnam where my parents, as well as all others living around me speak Vietnamese. A man (31)________  was born and grow up in any English –speaking country surely speaks English very well. We all know the advantages of learning a foreign language. The more languages we learn, (32)______ we get into the knowledge treasure of humanity.

Question 28: A. from

B. to


C. at


D. in     

Question 29: A. to be spoken
B. spoken

C. spoke

D. speaking

Question 30: A. fluently

B. fluent   

C. fluency

D. more fluent

Question 31: A. whose
     B. whom   
C. which                  D. who

Question 32: A. the most

B. the much

C. the more              D. the best   

Choose the sentence (A, B, C or D) that is almost the same in meaning as the sentence given and mark the letter A, B, C or D on your answer sheet to indicate the correct word

Question 33: The work was hard and the wages were low. He decided to take the job.

A. He decided to take the job despite of the hard work and low wages.

B. In spite of the hard work and low wages, he decided to take the job.

C. In spite the hard work and low wages, he decided to take the job.

D. He decides to take the job despite the hard work and low wages.

Question 34: He last had his eyes tested ten months ago.

A. He tested his eyes the last time ten months ago.

B. He didn’t have the optician test his eyes ten months ago.

C. He hasn’t had his eyes tested for ten months.

D. He hadn’t tested his eyes for ten months.

Question 35: As soon as he arrived at the airport, he called home.

A. No sooner had he arrived at the airport, he called home.

B. He arrived at the airport sooner than he had expected.

C. Calling home, he said that he had arrived at the airport.

D. He arrived at the airport sooner after he called home.

Question 36: We don’t go on holiday because we do not have enough money

A. If we had enough money, we could have go on holiday.    

B. If we have had enough money, we could go on holiday.

 C. If we had enough money, we would have gone on holiday.   

 D. If we had enough money, we could go on holiday.

Choose the best sentence that can be made from the cues given and mark the letter A, B, C or D on your answer sheet to indicate the correct sentence

Question 37: He/ such/ empathetic nurse/ the patients/ love him.

A. He is such an empathetic nurse that the patients love.

B. He is such an empathetic nurse that the patients love him.

C. He is such an empathetic nurse the patients love him.

D. He is such a empathetic nurse that the patients love him

Question 38:  In past/ people/ think/ they never able/ reach/Moon.

A. In the past, people thought we would never be able to reach the Moon.

B. In the past, people thought we will never be able to reach Moon.

C. In the past, people think we will never be able to reach Moon.

D. In the past, people think we will never be able to reach the Moon.

Question 39: The boss/ denied/ bully/ new employee.

A. The boss denied to bully the new employee.

B. The boss denied not bullying the new employee.

C. The boss denied bullying the new employee.

D. The boss denied to bullying the new employee.

Question 40: I could realize how important the family is only after I left home. 

A. After I left home I couldn’t realize how important the family is.

B. Not until I left home could I realize how important the family is. 

C. Not until after I left home, I could realize how important the family is. 

D. Not until I left home I could realize how important the family is. 

- The end -
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